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JOo00o00o0dodododo#fndef MY _ALLOCATOR_H
#define MY_ALLOCATOR_H_ #include "stdafx.h" #include
#include namespace happyever { enum { NODENUMS =2 }. union
_ODbj{union_Obj* M _free_list_link. char M_client_data[1]. }.
typedef union _Obj Obj. struct _Cookie { intiShmKey. /* [0 O O [
O 0O */intiShmID. /*iShmKeyd O O shmid */ int iSemKey. /* [
0000 *intiSemID. /A0 0000 *intiTotalsize. /* 0 O O
O O */void* pStartall. /* 0 0O O O O O OO */ char* pStartfree. /*
Dodo0odod* charrpEndfree. /00000000

O */intiUseNum[NODENUMS]. /*0 0O U O free_list0d O O

[ size*/ short sFreelistindex[ NODENUMS]. A0 0O 0O O 0O O O O
[ O 0O * Obj* uFreelistf NODENUMS]. }. typedef struct _Cookie
Cookie. //0bj. //Cookie. static Cookie *pHead = NULL. template
class MyAlloc { private: static const int ALIGN = sizeof(Obj). int
round_up(int bytes). int freelist_index(int bytes). int
freelist_getindex(int bytes). char* chunk_alloc(int size, int *nobjs).
void* refill(int num,int n). public: // type definitions typedef T



value_type. typedef T* pointer. typedef const T* const_pointer.
typedef Tamp. const_reference. typedef std::size_t size_ type. typedef
std::ptrdiff_t difference_type. template struct rebind { typedef
MyAlloc other. }. pointer address (reference value) const { return
amp.value. } MyAlloc() throw() { std::cout } MyAlloc(const
MyAllocamp. x) throw() { std::cout" } ~MyAlloc() throw() {
std:.cout } size type max_size () const throw() { return
std::numeric_limits::max() / sizeof(T). } //void
PrintFreelistAndCookie(). pointer allocate (size_type num, const
void* = 0) { pointer ret = 0. Obj** my _free_list. Obj* result. int
Index. // print message and allocate memory with global new
std::cerr index = freelist_index(sizeof(T)). if(index >=
NODENUMS) { return NULL. } my_free_list = pHead->uFreelist
iIndex. //Lock(semid,LOCK_NUM). result =*my _free list. if (result
==0) { ret = (pointer)refill((int)num, round_up(sizeof(T))). } else {
*my_free_list = result->M_free_list_link. ret = (pointer)result. }
//UnLock(semid,LOCK_NUM). pHead->iUseNum[index] =
pHead->1UseNum{[index] (int)num. if(0 == ret) { std:.cerr exit(1). }
std:.cerr PrintFreelistAndCookie(). return ret. } void construct
(pointer p, const T&amp. value) {// initialize memory with
placement new new((void*)p)T(value). } void destroy (pointer p) {
// destroy objects by calling their destructor p->~T(). } void
deallocate (pointer p, size_type num) { Obj** my_free_list. Obj* q.
int index. index = freelist_getindex(sizeof(T)). if(index >=
NODENUMS) { std::cerr exit(1). } my_free_list = pHead->uFreelist
index. g = (Obj*) p. //Lock(semid,LOCK_NUM). /*00 O 0O O O



OO0 000* /ffor(inti=0.i1 { g->M_free_list_link =*my_free_list.
*my_free_list=q. } //UnLock(semid,LOCK_NUM).
pHead->iUseNum[index] = pHead->iUseNum[index] - (int)num.
std::cerr PrintFreelistAndCookie(). } }. template int
MyAlloc::round_up(int bytes) { inti. i = bytes. if(bytes { i = ALIGN.
} std::cout return i. }. template int MyAlloc::freelist_index(int bytes)
{inti. for(i=0. i { if(pHead->sFreelistindex[i] == bytes) break.
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